
 

 

 
 

Control 

Point 

Choose the number that is 

missing from each sequence. 
 

Tick 

your 

answer 

Check your 

answer 

with the 

3rd letter 

9 28  48  68  ___ 108  128 

88  E 

   

   

2 78  91 ____ 117  130  143 

   

104  N 

   

11 135  165  195   225  ___ 285 

   

   

255  A 

3 975   950  ____  900  875 850 

   

925  U 

   

7 84  98  112 ____ 140  154 

   

   

126  B 

14 750  768  786  804  ____ 840 

822  T 

   

   

5 482   462   442  ___  402  382 

   

422  C 

   

1 66   99 ___ 165   198  231 

132  P 
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